/DVIRB

3UDFRZQLN 5RINiDG  SHVIND $JIQLHVIND 7\J

7\
31-1 DQDIID L SVDQIH

7\
31-1 DQDIID L SVDQH

o IHNVIlyZ DNDGHPLFNIFK 5 IHNVilyZ DNDGHPLFNIFK 5
2 HVIND $JQHVIND = )+ HVIND $JQHVIND = )+
3/ )*0 : )/ )*0
WD =% WD =%
7N 7N
£ =DJIDGQLHQID VSRIHFTQR 31-1 JIDPDAND
2 NXIXURZH NIDIyZ SUDNINFIQD FZ  SHVIND
= QIHP REV] 1] SHVIND SIQHVIND $ )+
N SIQHVIND $ H+ Y*/ -
)/)$/ 1,0 |
7N
a 31-1 DQDIL]D L SIVDQH
8 IHNVIyZ DNDGHPLFNIFK 5
= HVIND SJQHVIND = )+
T )/)*0 =
=%
Lo
o3
- 7N 7N 7N
% 31-1 DQDI]D L SLVDQH 31-1 DQDI]D L SLVDQH 31-1 DQDI]D L SLVDQH
Q IHNVIX  SHV]IND IIHNVIlyZ DNDGHPLFNLIFK SHVIN | [IHNVIyZ DNDGHPLFNIFK 5
@ SIQHVIND B =)+ DSIQHVIND $ =)+ )./| [HVIND $IQHVIND $
)/ )*0 = y*0 = )+)/)*0 -
o
©




